HAGS

UniMini Scramble Net

MASW117650
F
oS
I
° E@Playﬁowerinc UniMini Scramble Net Rev: O
HAGS heeibaosmil MASWI17650 19/12/24 1/8



1 32-03983 1x  1145x245x145mm 3.27kg 13 43-04924 @ 16x M6 @21x9mm 0.002kg
2 31-06801 2x  1496x88x87mm 3.54kg 14 8008624 % 16x DIN6928-C-6,3x60-8.8 0.02kg
5 33-03999 1x  2156x1260mm 1.908kg 15 8008724 ﬁ 16x 1SO7049-ST6.3x50-C-H-St 0.0143kg
4 43-06413 11x SCH 40x17 mm 0.01kg 16 8008848 16x 6.4x14x1.6-1SO4759-3-C 0.002kg
® 31-02551 22x M6, @26x14 mm 0.001kg 17 8000302 / 3x  550mm 0.20kg
6  SwW60093 22x M6, @16x8 mm 0.0006kg 18 8008335 » 3x 1S04014-M6x35-8.8 0.0104kg
7 8008330 11x  1SO4017-M6x20-8.8 0.0071kg 19 8008828 ‘ 6x @7x16x1,5 mm 0.0019kg

7 ~ N
8 43-04820 4x  M10, @25x12mm 0.003kg 20 8008768 ’\ @ 3x 1S04032-M6-8 0.003kg

\y

Y,

Y
9 43-04818 4x  M10, @17x14,5 mm 0.01kg 21 33-05369 7. 1x 1000x121x21 mm 3.5kg
10 8008850 4x  11x24x2-1S04759-3-C 0.006kg 22 8008344 ﬁ 3x 1S04017-M8x25-8.8 0.0158kg
11 8008367 4x 1S04017-M10x20-8.8 0.0233kg 23 8008849 ’ 6x 9x18x2-1S04759-3-C 0.003kg
12 43-04811 16x M6, J15x10mm 0.002kg 24 8042809 ' 3x 1SO7042-M8-8 0.007kg

‘/

° E@ Playﬁower inc UniMini Scramble Net Rev: O
ags ags.com

HAGS oo MASWI17650 1912/24 2/8



ASTM F1487

CSAZ 614

71"

1.8m - [71]

2EN1176

=ASTM F1487
2CPSC

2CSA Z614

0.667m

N

1.8m

—

o)
At ®|§
] | ~ X
: — - S

[~39 3/8"] o 1 ;; 0,0 —

1m ' “
S|E
— G
oo

e

I \ I
\
» © Playpower inc UniMini Scramble Net Rev: O
HAGS' ress@negscom MASWIT7650 19/12/24 3/8

www.hags.com



22
) S X2 “
N '
© @
\ d a, A
\\ 0] ©
(sS38 ) T
© ©
L Steel )
"~/
© @
04 ™ ju .
16X —~
(s10 A (@
)
\ d
) .
mm LI
| @5 ) \
» © Playpower inc UniMini Scramble Net Rev: O
HAGS' oo VASWITES0 o2r2s i



A

('S38

) L Steel

J

o

W)

[ [ [ [

i

[

© Playpower inc

HAG SO hags@hags.com

www.hags.com

UniMini Scramble Net
MASW117650

Rev: O
1912/24

5/8



6/8

Rev: O
1912/24

UniMini Scramble Net
MASW117650

© Playpower inc
hags@hags.com
www.hags.com

HAGS



BM _ CC/BM -~

S§25

LLL

S1-53
Eam . 2C20-25

@ 4 x24
>EN1176

2ASTM F1487
. 2CPSC @> 101
2CSA 7614

A / \ J ’
/ AN |

—A }
<

:

2 o o

— I

| |

£ &

< <

(@) o

Y !

_10.4mxTm| _
© Playpower inc UniMini Scramble Net Rev: O

HAGS' raosenegscom MASWIT7650 1912/24 7/8

www.hags.com



ANV

x1

AN

X2

225 .

450

0.667m

[~26 1/4"]
0.67m

[~78 3/4"]
2m

HAGS

© Playpower inc
hags@hags.com
www.hags.com

UniMini Scramble Net Rev: O
MASW117650 1912/24

8/8



